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Option D is correct 

In paragraph 5, Josh quotes Hugh Walpole as saying, "it is better it 
should go first than last." This context clue that follows the word 
precedes contains the phrase go first, which helps the reader 
understand that the word precedes means to come before. 

Option A is incorrect 
�/�v���‰���Œ���P�Œ���‰�Z���ñ�U���š�Z�����‰�Z�Œ���•�����^���}�u�����}�v�_���]�•�����v�����v���}�µ�Œ���P���u���v�š���š�}��
Sherry to pay attention rather than a useful context clue to the 
meaning of precedes. 

Option B is incorrect 
�/�v���‰���Œ���P�Œ���‰�Z���ñ�U���š�Z�����‰�Z�Œ���•�����^�P�]�À�]�v�P���u���_���]�•���µ�•�������š�}��describe Josh�[s 
interaction with Sherry rather than a context clue to the meaning 
of precedes. 

Option C is incorrect 
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Option D is correct 
Josh�[s smile after he examines the containers indicates that he 
agrees with �^�Z���Œ�Œ�Ç�[�•���v���Á��plan, which is the resolution of the story. 

Option A is incorrect 
�/�v���‰���Œ���P�Œ���‰�Z���í�ó���:�}�•�Z���]�•���•�u�]�o�]�v�P�����������µ�•�����Z�������P�Œ�����•���Á�]�š�Z���^�Z���Œ�Œ�Ç�[�•���v���Á��
plan, not because he finds her entertaining. 

Option B is incorrect 
Josh�[s random science quotations suggest that he enjoys doing 
science projects. However, his actions in paragraph 17 are a reaction 
to Sherry�[s new plan.  

Option C is incorrect 
Since a new plan was proposed �]�v���‰���Œ���P�Œ���‰�Z���í�ò�U���:�}�•�Z�����v�����^�Z���Œ�Œ�Ç�[�•��
work continues, which indicates that their work is not completed.  
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Option C is correct 

Paragraph 10 includes a description of how, while using the hand 
�•���v�]�š�]�Ì���Œ�U���^�Z���Œ�Œ�Ç���•�µ�������v�o�Ç���^�Z���������v���]�����������•�����Œ�]�P�Z�š�����•���š�Z�� summer �•�µ�v�_��
about the experiment. She and Josh change the focus of their 
experiment based on her new idea, which leads the plot in a new 
direction. 

Option A is incorrect 
Although cleaning bacteria off her hands is the reason Sherry starts 
using the hand sanitizer, thoroughly washing any bacteria off her 
hands does not impact the plot.  
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Option C is correct 

In paragraph 20, Sherry reveals to Josh that the advice she quotes in 
paragraph 18�U���^�•�}�u���š�]�u���•���Ç�}�µ���Z���À�����š�}�����Z���v�P�����Ç�}�µ�Œ���‹�µ���•�š�]�}�v�U�_ came 
from Josh. By changing the question in their experiment, Sherry was 
following Josh�[�•�������À�]�������(�Œ�}�u���^�€�o�•���•�š���Á�����l���]�v���•���]���v���������o���•�•�_��
(paragraph 20). 

Option A is incorrect 
Although Sherry mentions the quote being from �^�}�v�����}�(���u�Ç���(���À�}�Œ�]�š����
scientists,�_ she uses the quotation to help explain her scientific 
views rather than her feelings. 

Option B is incorrect 

In paragraph 19, �:�}�•�Z�����•�l�•���^�t�Z�}���•���]�����]�š�M,�_���Á�Z�]���Z���]�v���]�����š���•���š�Z���š��he 
does not remember his own words, but Sherry�[s purpose for using 
the quotation is to explain the sudden change she made to their 
experiment, not to test Josh�[s memory. 

Option D is incorrect 

In paragraph 18, Sherry quotes Josh because she wants to let Josh 
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Option B is correct 

In paragraph 13, Sherry puts a drop of plain water in a petri dish Is ��i�Œ�}n�‰i��u�(�Œ�}Readi<0175>h3(a )9<0003>(u)3.0<035E>.0<01020003>rec<0110>q
1<01B5>(i)-7.<0189>(i)-7.<0003> (p)2.<017D>.0<0128>98 (<0003>(u)3.0<0190017D>.0<01020189>4(p)2.<01C7>98i)-7.<0003>(u)3.0<01C10102019A>(Readi<011E018C035F>4(p)2.<0003>(u)3.0<015D> ( )9.0<0176>(i)-7.<019A> (p)2.<017D>-159<0003> (p)2.<01020003>(u)3.0<011A>(i)-7.<015D> ( )9.0<01280128011E018C011E0176019A> (#)]TJ<0003>(u)3.0<011A>(i)-7.<015D> ( )9.0<0190015A0358>94 )91J<0003>(u)3.0<0064> (p)2.<015A>(i)-7.<011E0003>6p��p�} �vi�šu�Œ���•�š#
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Option B is correct 

�d�Z�����µ�•�����}�(���š�Z�����‰�Œ�}�v�}�µ�v���^�/�_���š�Z�Œ�}�µ�P�Z�}�µ�š���š�Z�����•�š�}�Œ�Ç���]�v���]�����š���•���š�Z���š���]�š���]�•��
told from a first-person point of view, and beginning with paragraph 
1, the references to 
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Option D is correct 
The author provides key information about the two artists in each of 
the sections, such as how the artists got started, what subjects they 
liked to show, and what materials they used. 

Option A is incorrect 
In both sections of the article, the author briefly mentions cow 
herding, but neither section describes how cattle are herded. 

Option B is incorrect 

Although the author tells where one of the artists worked in the 
section titled �^���Œ���Á�]�v�P�•���}�v���š�Z�����d�Œ���]�o�U�_ no such mention is made in 
the other section. Both sections of the article are used to provide 
more key information than just where the artists worked. 
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Option C is correct 

The poet uses the imagery �}�(���^���À���Œ�Ç���•�š�Œ�����u�o���š�_�������Œ�Œ�Ç�]�v�P���o���µ�P�Z�š���Œ��
throughout the landscape in line 12 to suggest that being in the 
West makes people happy and the imagery in line 13, �^�u�}�Œ�����}�(��
reaping and less of sowing,�_���š�}���•�µ�P�P���•�š���š�Z���š�U���]�v���š�Z�����t���•�š�U��people are 
happy because less effort is required for greater reward. 

Option A is incorrect 
Although the poet includes a mention of flowing water in line 12, 
�š�Z�����Á�}�Œ�����^�•�š�Œ�����u�o���š�_���]�v���]�����š���•��that the river is very small, so the 
imagery is not used to show that the rivers are wide. 

Option B is incorrect 

Line 13 includes mentions of two farming tasks that could be 
���]�(�(�]���µ�o�š�U���^�Œ�����‰�]�v�P�_�����v�����^�•�}�Á�]�v�P�X�_���,�}�Á���À���Œ�U���š�Z����phrase �^�š�Z���Œ��
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Option C is correct 

The poet not only includes descriptions of the scenery and weather 
of the West in the first two stanzas of the poem, lines 1 through 14, 
but also includes descriptions of the way that people behave and 
live�U���^Out �Á�Z���Œ�����š�Z�����•�u�]�o�������Á���o�o�•�������o�]�š�š�o�����o�}�v�P���Œ�_���~�o�]�v�����î) and �^�t�Z���Œ����
the bonds of home ���Œ���������Á���������]�š���š�]�P�Z�š���Œ�_���~�o�]�v�����ò�•�X �d�Z�����‰�}���š�[�•��
message that the West is not only a place but a way of life continues 
in the last stanza, lines 15 through 21, by showing that in the West 
there is �^�u�}�Œ�����}�(���P�]�À�]�v�P�����v�����o���•�•���}�(�����µ�Ç�]�v�P�_���~�o�]�v�����í�õ�•�X 

Option A is incorrect 

The poet reveals in some lines of the poem that people in the West 
seem to do things differently than people elsewhere. For example, 
�^�š�Z�����Z���v�����o���•�‰�[s a little stronger�_���~�o�]�v�����í�•�X However, there is no 
indication that any of the differences break rules. 

Option B is incorrect 

The poet refers to the sun in line 4 and snow in line 5. But these 
lines are used to describe the superiority of the weather when it 
�Z���‰�‰���v�•���~�^�š�Z�����•�µ�v���]�•�������o�]�š�š�o�������Œ�]�P�Z�š���Œ�_���]�v���o�]�v�����ð�����v�����š�Z�����•�v�}�Á���]�•���^����
�š�Œ�]�(�o�����Á�Z�]�š���Œ�_���]�v���o�]�v�����ñ�•, not to show that the weather changes 
quickly.  

Option D is incorrect 

The repeated line �^�d�Z���š�[�•���Á�Z���Œ�����š�Z�����t���•�š�������P�]�v�•�_���u�]�P�Z�š���•�����u���š�} be 
used to refer to a location, but the poet do
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Option C is correct 

Although the author of the article mentions in paragraph 6 the 
respect Frank Reaugh�[s students had for him and in paragraph 9 the 
admiration people had for Erwin E. Smith�[s work, only the poet 
praises how ordinary people treat each other day to day. For 
example, line 9 includes the detail �š�Z���š���^�(�Œ�]���v���•�Z�]�‰�[�•�������o�]�š�š�o�����š�Œ�µ���Œ�_���]�v��
the West. 

Option D is correct 

�d�Z�������µ�š�Z�}�Œ���}�(���š�Z�������Œ�š�]���o�������Á���o�o�•���}�v���š�Z�������]�•���‰�‰�����Œ���v�������}�(���š�Z�����^�K�o����
�t���•�š�_���~�‰���Œ���P�Œ���‰�Z���î�•�����•���������Z���v�P�����(�}�Œ���š�Z�����Á�}�Œ�•��. Only the poet writes 
that everything is still better in the West�U���^�€�}�•�µ�š where the skies are 
�����š�Œ�]�(�o�������o�µ���Œ�_���~�o�]�v�����ô�•�X 

Option A is incorrect 
The poet concentrates on depictions of situations that are ongoing 
�]�v���š�Z�����t���•�š�U���•�µ���Z�����•���š�Z�����^�o���µ�P�Z�š���Œ���]�v�����À���Œ�Ç���•�š�Œ�����u�o���š�_���~�o�]�v�����í�î�•�U��
rather than on how life is changing. 

Option B is incorrect 

The �‰�}���š���u���v�š�]�}�v�•���^�Œ�����‰�]�v�P�_�����v�����^�•�}�Á�]�v�P,�_���Á�Z�]���Z�����Œ�������}�š�Z���(���Œ�u�]�v�P��
terms, but does not specifically mention farming or its importance 
to the West. Both the author and the poet appreciate the value of 
ranching, a branch of agriculture related to but separate from 
farming. 

Option E is incorrect 

Although the poet praises the virtues of people who already live in 
the West, he does not indicate that more people should move to 
the West. The author quotes Frank ReaughWest.
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Option D is correct 

In the article, Frank Reaugh is 
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Option D is correct 
Paragraphs 4 and 5 are organized to provide descriptive details 
about where salamanders live and how they look.   

Option A is incorrect 

�d�Z�����‰�Z�Œ���•�����^�€�š�•�Z���š���u�����v�•�_���]�v���‰���Œ���P�Œ���‰�Z���ð���]�•���}�v�����š�Z���š�����}�µ�o�����������µ�•������
to introduce an effect in a cause-and-effect organization. However, 
in these paragraphs, the phrase introduces a descriptive detail about 
why salamanders � �̂����v���o�]�À�����]�v���Á���š���Œ�����v�����}�v���o���v���X�_ 

Option B is incorrect 
The information in paragraphs 4 and 5 is not organized 
chronologically, which is a pattern that describes events in the order 
that they happened. 

Option C is incorrect 

Although the author includes the detail that �^�€�•�•alamanders look like 
�o�]�Ì���Œ���•�U�����µ�š���š�Z���Ç�����Œ���������l�]�v�����}�(�����u�‰�Z�]���]���v�_��in paragraph 4 to make a 
comparison to lizards, the remaining details in paragraphs 4 and 5 
are not used to further describe any similarities or differences. 
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Option A is correct 

In paragraph 9, the author introduces the central idea that the 
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Option B is correct 
This summary of �š�Z�����•�����š�]�}�v���^�d���Æ���•�[�•���^�‰�����]���o���^���o���u���v�����Œ�_ captures 
the most important details: where the Austin Blind Salamander lives 
and the features that make it well-adapted to its habitat. 

Option A is incorrect 

Although this summary includes information about aquifers, as 
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Option C is correct 
The author includes the description in paragraph 7 that an aquifer is 
�^�����o���Ç���Œ���}�(���Œ�}���l���Á�]�š�Z���Z�}�o���•���P�}�]�v�P���š�Z�Œ�}�µ�P�Z���]�š�_���š�} indicate a similarity 
to a honeycomb. 

Option A is incorrect 

Because the ���‹�µ�]�(���Œ���]�•�������•���Œ�]���������]�v���‰���Œ���P�Œ���‰�Z���ó�����•���^�€���•���o�}�Á Barton 
�^�‰�Œ�]�v�P�•�U�_���]�š���u�]�P�Z�š���•�����u���š�Z���š���š�Z�������}�u�‰���Œ�]�•�}�v���š�}���Z�}�v���Ç���}�u�����Œ���(���Œ�•���š�}��
how deep aquifers are. However, the comparison to honeycomb is 
�µ�•�������š�}�������•���Œ�]�������^�Z�}�o���•���P�}�]�v�P���š�Z�Œ�}�µ�P�Z�_ (paragraph 7) the rock of the 
aquifer. 

Option B is incorrect 

The author includes the detail in paragraph 7 that the Edwards 
���‹�µ�]�(���Œ�����}�v�š���]�v�•���^�Á���š���Œ-filled caves,�_��which may suggest that the 
comparison to honeycomb is used to describe how big an aquifer is. 
However, the comparison is used to describe the arrangement of 
�^�Z�}�o���•���P�}�]�v�P���š�Z�Œ�}�µ�P�Z�_ (paragraph 7) the rock of the aquifer, rather 
than the size of the holes.  

Option D is incorrect 
Although the author includes information in paragraph 7 �š�Z���š���^�€���•�v��
���‹�µ�]�(���Œ���]�•�������o���Ç���Œ���}�(���Œ�}���l�U�_��it is the detail of �^�Z�}�o���•���P�}�]�v�P���š�Z�Œ�}�µ�P�Z�_���š�Z����
rock that describes how aquifers look.  
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Option D is correct 
In paragraph 7, the author includes the information that the Austin 
���o�]�v�����^���o���u���v�����Œ���^���o�u�}�•�š���v���À���Œ���•�Á�]�u�•���š�}���š�Z�����•�µ�Œ�(�������_�����v����stays 
�^�µ�v�����Œ�Á���š���Œ���(�}�Œ���u�}�•�š���}�(���]�š�•���o�]�(��,�_ making it a rare sight.  

Option A is incorrect 
The details in paragraph 8 �š�Z���š���š�Z�������µ�•�š�]�v�����o�]�v�����^���o���u���v�����Œ�•���^���Œ��������
�•�Z�]�v�Ç���Á�Z�]�š���U���•�]�u�]�o���Œ���š�}���‰�����Œ�o�•�U���Á�Z�]�o�����}�š�Z���Œ�•�����Œ���������o�]�P�Z�š���‰�µ�Œ�‰�o���_���u���l�����]�š��
unlikely that the Austin Blind Salamanders can blend into the water.   

Option B is incorrect 

The Austin Blind S���o���u���v�����Œ�•�����Œ�����^�����š�Á�����v��half an inch and three 
�]�v���Z���•���o�}�v�P�_ 
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Option A is correct 

This paraphrase accurately restates the meaning of the sentences 
from paragraph 11. It includes the important ideas that the Austin 
Blind Salamander �^�Z�µ�v�š�•���}�š�Z���Œ�����v�]�u���o�•�U�_���š�Z���š���]�(���]�š�����]���v�[�š���Z�µ�v�š���^�š�Z���Œ����
would be a lot more of their prey animals �]�v���š�Z�������v�À�]�Œ�}�v�u���v�š�U�_�����v����
that a large number of prey animals �^���}�µ�o�����u���l�����š�Z�����Á���š���Œ���µ�v�•���(����
�š�}�����Œ�]�v�l�X�_ 

Option B is incorrect 

This paraphrase does not accurately restate the important ideas of 
the sentences from paragraph 11. The idea that the Austin Blind 
Salamanders are the only animals that live in the aquifer is not 
supported by the details in paragraph 11, as the author states that 
�š�Z�������µ�•�š�]�v�����o�]�v�����^���o���u���v�����Œ�•���^�Z�µ�v�š���}�š�Z���Œ�����v�]�u���o�•�X�_ 

Option C is incorrect 

This paraphrase includes an inaccurate idea that is not supported by 
the sentences from paragraph 11. In these sentences, the author 
states �š�Z���š���Á�]�š�Z�}�µ�š���š�Z�������µ�•�š�]�v�����o�]�v�����^���o���u���v�����Œ���^�š�Z���Œ�����Á�}�µ�o��������������
�o�}�š���u�}�Œ�����‰�Œ���Ç�����v�]�u���o�•�_���]�v���š�Z�������‹�µ�]�(���Œ, but the author does not state 
that those prey animals would hunt there. 

Option D is incorrect 

�d�Z�������µ�•�š�]�v�����o�]�v�����^���o���u���v�����Œ�•�����Œ���������^�l���Ç�•�š�}�v�����•�‰�����]���• . . . that hunt 
�}�š�Z���Œ�����v�]�u���o�•�_�����v�������}���v�}�š���v���������š�}���������‰�Œ�}�š�����š�������(�Œ�}�u���‰�Œ�������š�}�Œ�•�X��
This paraphrase includes inaccurate ideas that cannot be supported 
by the sentences from paragraph 11.  
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Option B is correct 

The description �}�(���š�Z�����‰�Œ�]�Ì�������•���^�'�o�}�����o�_ in sentence 2 and the 
description in sentence 1 that the prize is given at a gathering of 
�^�š�Z�}�µ�•���v���•���}�(���š�������Z���Œ�•�_���•�µ�‰�‰�}�Œ�š��the inference that the phrase �^���v��
�]�u�‰�}�Œ�š���v�š�_���]�•���š�Z���������•�š�����Z�}�]�������}�(���Á�}�Œ���•���š�}���Œ���‰�o���������š�Z�����‰�Z�Œ���•�����^�����À���Œ�Ç��
���]�P�X�_ 

Option A is incorrect 
�d�Z�����Á�}�Œ���•���^�}�v�����o���Œ�P���_��do not emphasize the importance of the 
prize.  

Option C is incorrect 
The phrase �^�•�}�u�����Z�µ�P���_ is not the best replacement
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Option B is correct 

�^�d�Z���Œ���(�}�Œ���_���]�•���š�Z���������•�š��transition to connect the cause stated in 
�•���v�š���v�������í�í���~�^�d�����]���Z�]���Á���v�š�������š�}���Z���o�‰���š�Z���•�������Z�]�o���Œ���v�_�• with the 
effect stated in sentence 12, �^�,�����������]���������š�}���������}�u���������š�������Z���Œ�����š��
�š�Z���]�Œ���•���Z�}�}�o�X�_  

Option A is incorrect 
�^�,�}�Á���À���Œ�_��is a transition used to show a difference(s) between 
ideas and is not the best transition to connect the cause-and-effect 
ideas between sentences 11 and 12.   

Option C is incorrect 
�^�K�À���Œ���o�o�_��is a transition used to conclude an idea. Because sentence 
12 is not the conclusion of the paragraph, it is not the best transition 
to add to the beginning of sentence 12.   

Option D is incorrect 

�^�&�]�v���o�o�Ç�_���]�•��a transition to show order. It is not the best transition to 
add to the beginning of sentence 12, because it suggests that 
Tabichi took a long time or used a complex process to make his 
decision, and there are no details in this paper to indicate this.  
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Option D is correct 
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Option D is correct 
Sentence 10 repeats the information in sentence 9 that Chuck and 
Baxter had waited for the bus together the whole time Chuck was 
in school. 

Option A is incorrect 
�d�Z�����]�v�(�}�Œ�u���š�]�}�v���]�v���•���v�š���v�������ñ���š�Z���š�������Æ�š���Œ�����v�������Z�µ���l���^�Á���Œ�����µ�•�µ���o�o�Ç��
�š�Z�����}�v�o�Ç���l�]���•�_�����š���š�Z�������µ�•���•�š�}�‰���]�•���v�}�š���Œ���‰�����š������information in the 
third paragraph.  

Option B is incorrect 
The details �š�Z���š�������Æ�š���Œ���^�Á���•���]�v���(�]�(�š�Z���P�Œ�������_�����v�������Z�µ���l���^�Á���•���]�v��
�(�}�µ�Œ�š�Z�_�����Œ�����v�}�š���Œ���‰�����š�������]�v���š�Z�����š�Z�]�Œ�����‰���Œ���P�Œ���‰�Z�X��  

Option C is incorrect 
The information in sentence 7 that Baxter treated ���Z�µ���l���^�o�]�l��������
�o�]�š�š�o�������Œ�}�š�Z���Œ�_���]�•���v�}�š���Œ���‰�����š������in the third paragraph.  
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Option A is correct 
This revised sentence correctly replaces the misused �v�}�µ�v���^����
�P�]�P�P�o���_���]�v���•���v�š���v�������í�ï���Á�]�š�Z���š�Z�����À���Œ�����^�P�]�P�P�o�����_���š�}�������•���Œ�]���������Z�µ���l�[s 
actions in the past.  

Option B is incorrect 
This revised sentence �Œ���‰�o�������•���š�Z�����Á�}�Œ�����^�P�]�P�P�o���_���]�v���•���v�š���v�������í�ï��
with the word �^�P�]�P�P�o�]�v�P,�_���Á�Z�]���Z���]�•���v�}�š��consistent with the use of the 
�‰���•�š���š���v�•�����}�(���^�o�]�•�š���v����.�_  

Option C is incorrect 

This revised sentence correctly replaces the misused �v�}�µ�v���^����
�P�]�P�P�o���_���]�v���•���v�š���v�������í�ï���Á�]�š�Z���š�Z�����À���Œ�����^�P�]�P�P�o�����_���š�}�������•���Œ�]���������Z�µ���l�[s 
actions in the past. However, this is not the best way to revise 
sentence 13, because it also �Œ���‰�o�������•���š�Z�������}�v�i�µ�v���š�]�}�v���^�•�}�_���Á�]�š�Z��
�^�}�Œ�U�_�����Z���v�P�]�v�P���š�Z�����u�����v�]�v�P���}�(���š�Z�����}�Œ�]�P�]�v���o��sentence 13. 

Option D is incorrect 
�d�Z�������}�v�i�µ�v���š�]�}�v���^���v���_���]�•���]�v���}�Œ�Œ�����š�o�Ç���������������š�}��this revised sentence 
to suggest that Baxter is both speaking and listening, while Chuck is 
simply giggling. In context, Chuck listens and giggles. 
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Option B is correct 
This revision of sentence 19 avoids the phrase �^�����•���Œ�]���]�v�P�����v����
telling,�_��in which two words share the same meaning.  

Option A is incorrect 

Moving the phrase �^�Z�]�•���v���Á���Z�}�µ�•���_��to the end of the revised 
sentence creates an error of confusion about what Baxter is 
describing and whether Chuck tries to act interested in his words or 
in the house itself. 

Option C is incorrect 

This is not the best revision of sentence 19, because the phrase �^�š�}��
the �š���o�o�]�v�P�������}�µ�š���]�š�_�����š���š�Z�������v�����}�(���š�Z�����•���v�š���v���� �µ�•���•���^�š���o�o�]�v�P�_�����•������
noun, which is awkward because telling should function as a verb in 
this sentence.  
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Option A is correct 
�d�Z�����v�µ�u�����Œ���^�í�ñ�_���]�v���•���v�š���v�������ï���•�Z�}�Á�•���š�Z���š���:���•�•�]�������]�•���Á�Œ�]�š�]�v�P�������}�µ�š��
more than one year. Changing the singular possessive word 
�^�Ç�����Œ�[�•�_���š�}���š�Z�����‰�o�µ�Œ���o���Á�}�Œ�����^�Ç�����Œ�•�_���]�•���v����������. 

Option B is incorrect 

�:���•�•�]���������}�Œ�Œ�����š�o�Ç���µ�•���•���^�o���š���Œ�_���]�v���•���v�š���v�������ï���š�}���Œ���(���Œ���š�}���š�Z�����š�]�u����
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Option D is correct 
The use of �^�/�š�[�•�U�_���^���v�����Z���•�U�_�����v�����^�•�š���Œ�_���]�v��sentence 6 to describe the 
Texas flag is correct. No change is needed. 

Option A is incorrect 
The ���}�v�š�Œ�����š�]�}�v���^�/�š�[�•�U�_���Á�Z�]���Z���u�����v�•���^�/�š���]�•,�_ to say what the colors of 
the Texas flag are in sentence 6 is used correctly. 

Option B is incorrect 
���Z���v�P�]�v�P���^���v�����Z���•�_���š�}���^�]�š���Z���•�_�����Œ�����š���•���š�Z�������Œ�Œ�}�Œ���}�(�������Œ�µ�v-on 
sentence.  

Option C is incorrect 
�d�Z�����Á�}�Œ�����^���_�������(�}�Œ�����^�o���Œ�P���U���Á�Z�]�š�����•�š���Œ�_���]�v���•���v�š���v�������ò��indicates one 
star, not many stars.  
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Option B is correct 
The simple past-�š���v�•�����À���Œ�����^���������u���_���]�•���š�Z�������}�Œ�Œ�����š���Á���Ç���š�}���]�v���]�����š����
that the event happened in the past and is completed.  

Option A is incorrect 
Because the writer says in sentence 7 that the event happened in the 
�‰���•�š�U���^In �í�ô�ð�ñ�U�_��it is incorrect to use the present-tense verb 
�^�������}�u���•�X�_ 

Option C is incorrect 
Although Texas�[s change to statehood was completed long in the 
�‰���•�š�U���^In �í�ô�ð�ñ�U�_��it is incorrect to change the verb �š�}���^�Z��d beca�u���U�_��
which is not a correct form of the past tense. 

Option D is incorrect 
Because the writer says in sentence 7 that the event happened in the 
past, � În �í�ô�ð�ñ�U�_��it is incorrect to use the future-�š���v�•�����À���Œ�����^�Á�]�o�o��
�������}�u���X�_ 
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Option C is correct 
Changing �^���µ�š�_���š�}���^�•�}�_���]�v���•���v�š���v�������ð�������š�š���Œ�����Æ�‰�Œ���•�•es the cause 
and effect in the sentence: she suggested making slime because 
she had learned how to do so at summer camp. 

Option A is incorrect 
���}�š�Z���^�o�����Œ�v�����_�����v�����^�o�����Œ�v�š�_���•�Z���Œ�����š�Z�����•���u����meaning, so a change 
is not needed.  

Option B is incorrect 
The comma is correctly used �����(�}�Œ�����š�Z�������}�v�i�µ�v���š�]�}�v���^���µ�š�_ to 
separate two independent clauses. It should not be removed. 

Option D is incorrect 

Because the entire journal entry describes something that 
happened in the past, the use of the past-tense verb �^�•�µ�P�P���•�š�����_���]�v��
sentence �ð���]�•�����}�Œ�Œ�����š�X���������Z���v�P�����š�}���š�Z�����‰�Œ���•���v�š���š���v�•�����^�•�µ�P�P���•�š�_���]�•��
not needed.  
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Option C is correct 
�/�v���•���v�š���v�������ò�U���^�����•�]���Œ�_���•�Z�}�µ�o�������������Z���v�P������to �^�����•�Ç�_�����������µ�•�����š�Z����
ease of making slime is not compared to the ease of making 
anything else. 

Option A is incorrect 
The correct use of the �•�]�v�P�µ�o���Œ���‰�Œ�}�v�}�µ�v���^�]�š�_���]�v���•���v�š���v���� 6 refers to 
slime�X���d�Z�����‰�Œ�}�v�}�µ�v���^�š�Z���Ç�_ would in this case be used for multiple 
objects, �•�}�����Z���v�P�]�v�P���^�]�š�_���š�}���^�š�Z���Ç�_���]�•���v�}�š���v�����������X�� 

Option B is incorrect 

The present-�š���v�•�����À���Œ�����^�]�•�_���]�v���•���v�š���v���� 6 refers to slime being 
really easy to make. Although past-tense verbs throughout the 
journal entry are correctly used to describe Elliana and Max�[s 
actions, �^�]�• really�_��should not be changed to �^�Á���• really,�_ because 
its easiness to make is an ongoing characteristic of slime. 

Option D is incorrect 
�d�Z�����µ�•�����}�(���š�Z�����À���Œ�����(�}�Œ�u���^�š�}���u���l���_���]�v���•���v�š���v�������ò�������•���Œ�]�����•������
���Z���Œ�����š���Œ�]�•�š�]�����}�(���•�o�]�u���X���^For �u���l�]�v�P�_���Œ���‹�µ�]�Œ���•���� noun to follow this 
verb form, which would change the meaning of sentence 6.  
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